17mx 24m
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St.A St.B St.C St.B St.C

St.B
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2-3
StA B C St.1 10 13
15x 15cm
0.5mm 10
2-4
St.A B C St.1 2 St.1 10
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15x 15cm X o om
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2-5
StA B C St5 7
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2
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2001 12
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sp- sp-
sp-
St ABC
St.1 5,689 St.2 4,356
St.A 67 389 691 1300g/ St.B 100 400
1167 113 15689/ 10
St.A 100 778 0.8 22959/ St.B 289 1800

1311 21769/

St.1 4 6
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2
St.A B C St.A St.B C
St.l 2
St.3 St.6
St.1 St.2
St.A
2 50
St.1 0 0 0 5 St.1 0
St.A 3 4 2 3 St.2 0
St.B 2 1 1 1 St.3 3
St.C 1 1 0 6 St.4 0
St.2 0 0 0 1 St.5 0
St.6 2
St.7 0
St.8 0
St.9 0
St.10 0
3-4
St7 No10 .
3 No1,3,5,7,9
6 7 8
St.A 100% St.B 9 St.C 8%
St.5 88% St.7 78% St.A St.B
St.5 St.7
3
(H12.10.18) (H13.3.12)
(m) NO
(mm) (@ () (mm) (o)) () ()
StA 0.5 1 19.11 3.02 50/ 19.64 3.24 50 100
2 18.63 2.93 50 19.83 3.23 40 80
StB 0.9 3 18.94 2.98 50] 19.94 3.26 48 96
4 18.75 2.85 50] 19.57 3.04 46 92
StC 0.9 5 18.49 2.63 50 1942 2.93 41 82
6 19.50 3.23 50 2057 3.56 50 100
St5 1.0 7 19.21 3.12 50] 2057 3.60 44 88
8 19.21 3.26 50] 20.23 3.38 17 34
St7 0.9 9 18.34 2.78 50 2012 3.25 39 78
10 18.09 2.66 50 - - - -
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